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Fifth Semester B.Com. Degree Examination,
October/November 2019

[CBCS Scheme)
_ Commerce
ACCOUNTING FOR MANAGERIAL DECISIONS

Time : 3 Hours] [Max. Marks : 90
Instructions to Candidates : Answer should be written completely either in English or in
Kannada. '

SECTION - A/&pen -~ &

Answer any TEN sub-questions. Each sub-question carries 2 marks :
(10 x 2 = 20)
ain)meride #3) svd-Zdrivr evgdh. 58 wwa-FIM 2 wosrisl

(a) Write any two difference between Marginal cost and Opportunity cost.
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(b) What is marginal costing? /e ‘r‘-:"‘r_,. e ¢
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(c) What is production budget? [ o SAARY & L a)
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(d) What is shut down cost? "‘l;a pyus W J "'II
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(¢) State any two limitations of Budgetary costing.
wobE,od dzﬂédwmj ain)mEte HUB) B3D0SNYR), E50A.

()  Average stock of a firm is Rs. 2,00,000, its opening stock is Rs. 40,000 less
than its closing stock. Find out the opening stock and closing stock.
z0e30 em®> T, 2,00,000, oty St w0l womabioes mUodd wemE
o, 40,000 sBoinad, degineh Ty S08) Bodsd m&gﬁﬁiﬂﬁa &EaoaB.

[g) Gross profit ratio of a firm is 25%. Gross profit is Rs. 50,000. Calculate the
sales and cost of sales,

Ree eey FEmm de 25 o), 2o oyl de. 50,000 SRGT, SRt 208 SN0
BAobE Fore DOF For) LROAD.

(h) Write any two approaches to inflationary accounting.
BRoLYOT SEIINY IRFHITOR 0B AFPTNYEY, Wi,

(ij Define the term LLF.R.S.
ILFRS. aitd;m.gt%a:@ﬁm
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(i)  State any four requisites for installation of uniform costing,
atedd dz{* ﬂ%ﬁmﬂo&}iﬁi Eirladioman waen, uaﬂéﬁu‘ Boa’ﬁ%ﬂa‘% aznha,

(k} Write any two features of lease financing,
rodn ®mwmaan Bowodia oodah qm#ﬁ;{ Alala}bls)

()  Write any two limitations of inter firm comparison,
t08d 5ﬂﬁmﬂi} Baeddodh odndmods ooe) mﬁﬁfﬁ%mdmﬁ

SECTION - B/ aper - B
Answer any FIVE of the following questions. Each question carries § marks :
(5 = 5 = 25)
OIRIHRTTle oe FBAvN evsds. 53 381 5 wosrie) -
2. Briefly explain features of Decision making.
demrn Sricudedy adal FnNYE) Sodaen a8y,

3. XYZ Ltd is a manufacturing company finds that while the cost of making a
component is Rs. 10, the same is available in the market @ Rs. 9 with an
assurance of continuous supply.

The cost information is as follows :

Particulars Rs.
Direct materials 3.50
Direct labour 4.00
Other variable expenses 1.00
Fixed expenses __1.50
Total 10.00

(a) Should vou sugegest whether to make or buy?

(b) What would be your decision in case the suppliers reduces the price of
component from Rs, 9 to Rs. 87

XYZ 4. womh evsesme Fogod SR eussTe S8 da. 10 esAcb3d, ede Besol SRaa
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Sup oS ke g,
8153 3% 3.50
ded .00 4.00
%30 10 3u, 1.00
40 3% 1.50
o), 10.00

(a) Qe Sodws mmTaaTﬁaemm?
(b)  ApdEmoDs 308 Weabmy Be. 9 Bod B 8rien deges wRTY Ay Agees
amNd3d?
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Standard Ltd. submits the following figures of product of “X” for the first quarter
of 2019.
Sales (in units)

January 20,000
February 40,00
March 60,000

Selling price per unit — 100

Target for the first quarter 2019 is

(a) Sales quantity increased by 20%
(b) Selling price increased by 10%.

Prepare saies budget for the first quarter of 2019.
=3 omwte d2oeie® 20190 X" Sad Seve § BH4E noa), deBd

SRovk (L)

BRSO 50,000

Fey=0 40,00

SPese 60,000 &g

%0B) PV S00RL IHES 36 - TA. 100 | e S (R
20190 2o 3,378 S0k BakE,0E), SodR0k. ;4 el )&

(a) Snoowsd FSne de 20 dab BwaRcao
(b) S»oetd Wdaln Be 10 OR) BewNCLZT.

20150 dape a:&m SRoe vobg obaE) 3aimbi.

From the following information calculate
{a) Gross profit ratio.

(b} Net operating profit ratio.

(e} Net profit ratio.

{d} Operating ratio.

Particulars Rs,
Net sales 2,50,000
Cost of sales 1,75,000
Selling expenses 6,000
Administration expenses 4,000
Interest received 2,500
Loss on sale of old machine 6,000



g #9RT SPbica0s e rig), Bordd LoD :
fa) AR enyd FSP0
by 08 :.-?’ s oiprudsol eayd dSme
(c) @3¢ enyin JSR0
{d) saoimriitmol 3SR

SHZgrie 0.
R Sooetd _ 2,50,000
S Be0Dd Sane ;St,i,_i 1,75,000
Smoeks 3, 6,000
wnds 33, 4,000
t.}&q!:éﬁ'ﬁd 2,500
£dod oo FPUES B, 6,000

Brieil exglajn objectives of LE.R.S.
RS A audeBnva, sosgmen S0
kg

XYZ Leasing Co. Ltd. provided you the following information and reguested you
to suggest whether the proposed lease is feasible or not under NPV method.

Cost of assets — Rs. 20 ,00,000

Cost of capital — 10%

Rate of depreciation - 10%

Economic life of the asset = 10 years

Tax rate - 35%

Lease rental per year is Rs. 6.00,000

The present value of annuity of 1 @ 10% for 10 years is 6.145.

VY7 dosd ODISEE 8 $UNS Sk BT, gosRob rsn Sms Teobr g, Asabe on)
pe? NPV 2pasaay, $rm0% ed Ded.

egob St - 0. 20,00,000

worTey St3 — 10%

3389 0o - 10%

esy0d) ¥R BeST - 10 Sseried

46t g - 35%

SoaFd rognt wednt ~ da. 6,00,000

I3 3P, <zprss 0. 1@ 10% 10 Sadr 6.145.

Briefly explain features of activity based costing.
=38 SEROS 31, 93F080D oFRnve), zogBman [0
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SECTION -~ C/&gari - 2

Answer anv THREE of the following questions. Each question carries 15 marks :
(3 x 156 = 45)
odRSTerde Jaacy ;;aj&!ﬂﬁﬂr‘l susba. I3 E’gl.ﬁ*ﬁ 15 wosnivh

9. Explain the various steps to be involved in Decision making.
desmrd :;ﬁmm%msm T Sﬁﬁﬁﬁiﬁiaﬁﬁh.

10, Following information relates to XYZ Lid., which make and sell goods.

Particulars

Production (units) 1,00,000
Sales (units) ; 90,000
Selling price per unit (Rs.) 15
Direct materials (Rs.) 2,550,000
Direct labour (Rs,) 3,00,000
Factory overheads:

Variable (Rs.) 1,00,000
Fixed (Rs.) 2,50,000
sSelling and distribution overheads:

Variable (Rs.) 1,00,000
Fixed (Rs.) 2.00,000

You are required to prepare income statement using

(a) Marginal costing

(b} Absorption costing. i .
XYZ S0z Snbéicuod, Fozipodn ATBINYEY PUBEFE D03 IR0 IRBEIF |

aonish
BUTES (Fesried) . 1,00,000
TRTRES (TETrED) 90,000
woeh Feive Spoetid td (dne.) 15
ded e IR (T.) 2,50,000
g0 TAFED (8R.) 3,00,000
gsa:ﬁﬁnp :.St.L;

250 (dn.) 1,00,000
30 (0a.) : 2,50,000
SR 503 30m dt&uﬁﬁj :

wd (de.) 1,00,000
0 (06.) 2,00,000
oy 33, andabn) 30inbk ;

(a) . 2esimos Bu Byod
(b) Tper 38 Byad
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The following details are relating to XYZ Ltd. The figures of November to
December are actual whereas those relating to January to April are projected.

Months Sales Purchases Wages Manufacturing Administration
expenses EXPENISES
Nov, 4.,00,000 1,80,000 80,000 00,000 40,000
Dec. 425000 2,000,000 85,000 75,000 40,000
Jan. 4,50,000 2,10,000 QD000 75,000 40,000
Feb. 5,00,000  2,25,000 85,000 60,000 40,000
Mar, 4.50,000 1.60,000 50,000 60,000 40,000
Apr. 4,00,000 1,60,000 75,000 45,000 40,000

A#ie following details are as available :

(a) 20% of sales is for cash basis and the remaining amount is collected in 2
equal instalment in the following 2 months.

{b) Suppliers of materials offer a credit period of 1 month,

(¢) 25% of wages and 50% of manufacturing expenses are paid in the following
month.

{d) Administrative expenses are paid in the same month.
(¢) Cash balance 1= Jan. 2019 was Rs. 25,000,

You are required to prepare a cash budget for four months from Jan. to April.

Y7 goan TowoBis SRk F30wctRer B¥owst SonvdRd wod wosridy DRI,
o8 £REB03108 DHLFSONG Bod woBridh 7073 UNdIH -

Soried SR0etd DBeB sad evspEs 31, BE9S B3
dfowc®  4,00,000 1,80,000 80,000 60,000 40,000
Bfowd® 4,225,000 2,00,000 85,000 75,000 40,000

s¥=0  4,50,000 2,10.000 90,000 75,000 40,000
FuI0 5,00,000  2,25,000 85,000 60,000 40,000
It¥e  4,50,000 160,000 80,000 60,000 40,000

nyeF 400,000 1,60,000 75,000 45,000 40,000
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) IS0 1, 201900 8rigy evdd . 25,000 RHIH.

ES0weE HierSBhs ey dord Srich somat Be, JIRDL
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“The ABC company'’s finaneial statements contain the following information;

Particulars 31 March 2019
Cash 1.60,000 o
Sundry debtors 4,00,000 '}a‘iﬁ;,nw--
Temporary investments 3,20.000 B :i_ e h
Stock 21,60,000 - 2, :
- Prepaid expenses 12,000 : : S
Total current assets 30.52,000 ' g | !
Total assets 64,00,000 8, % i
Current liabilities 8.00,000 bk 248 T
10% debentures 16,000,000 I
Equity share capital 20,00,000
Retained earnings 8,12,000
Statement of profit for the year ended 315 March 2019,
Es.

Sales 40,00.000
Less: Cost of goods sold 28.,00,000

Interest 1.60,000 2_9,60,[}0{}
Net profit 10,40.000
Less: Tax @ 50% ' 5,20,000

©5,20,000

Dividend declared on equity shares Rs. 2,20,000.
From the above figures, calculate

(a) Current ratio

(b}  Acid test ratio.

() Debt equity ratio

(d) Interest coverage ratio.

{e) Net profit ratio.

(i ~ Return on capital employed.

(g) Stock turnover ratio.

(h)  Assets turnover ratio.
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ABC gozdod Sneis HS0LL 8 wosnys), et -

S3drid 31 amure 2019
igtn ) 1,60,000
ahedriehy 4,00.000
T8 BAREND 3.20.000
AEETIS) 21,60,000
Soorna Suito L 12000
2bd) WO es3risy 30,52,000
k), 830 64,00,000
30 Beowuidned 8,00,000
e, 10 moS3ned 16,00,000
84343 Bec woETY 20,00,000
wgE sl 8,12.,000

oadd Agtsrbots 31 Smerte 20198 dadioomod :

o,
SR0k 40,00,000
Less: Sm0akd #00b0 Syrid 53, 28,00,000

w8, 1,60,000 29,60,000
Ry ent) 10,40,000
Less: 30t @ 50% 5,20,000

933 Besrtd et g8 66 2,20,000 deden GBI,
& 55008 InLIT S FYTORZNYR, Fom) HBD |

(a) 2@ FIP®

(b) @3 Sbegp SERO

fc)  adee 2030 ﬁﬂo&‘ worTeed TIPH
(@ wBmIIR0

(e) NEY osw) I35e8

(f) wommY BB J3FO

(g) ebedrid Smoats ZRPM

(h) 39 e} IRook Fwe

Explain merits and demerits of uniform costing.
DP0RS ﬁt&udfguaﬁni} VR F03) wmmmﬁmﬁ DD,



